[bookmark: _GoBack][image: ]
[image: ]

[image: ]
[image: ]
[image: ]

image1.png
File Edit Viey

Home Tools

® B

Help

Douce.pdf - Adobe Acrobat Reader DC

Externatilies Interve.

2 Q

(©]

x

rMOG® == - B

Price $

e Positive consumption externalities
A positive side effect (spillover benefit) that occurs when a good

is consumed. Eg. education, defensive driving course, flu vaccine.

MG / MB/PMB = private benefit to consumers,
the market demand curve.
= SMB = total benefit to society.
E™ The arrow shows the spillover benefits to
sy | @ third party. The benefit to society is
» Ereater than the benefit to the consumers.
Quantity

ﬁne free market (private) equilibrium price
and quantity is where PMB = MC (ie. where
MD = MS). Only private costs and benefits
are considered. The social equilibrium
quantity (Q°) is where SMB = MC.

To ensure consumers buy this increased
quantity, the price to consumers must be.
lowered to the social equilibrium price (P%). To
ensure firms produce this increased quantity,

[ONC]

e 2

Qe price they receive must increase to P? J

Externality — Spillover costs or
benefits to a third party as a
result of consumption or
production of a good.

ISpillover benefits — A positive
side effect to a third party as a
result of consumption or
lproduction of a good.

Private marginal benefit — The|
benefit (utility) gained from

lconsumption of a good. This is
ishown by the demand curve.

ISocial marginal benefit — The.
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e Government intervention - positive consumption externalities
The free market fails to consider spillover benefits of consumption
so the government is justified to intervene (Eg. subsidy, provision).

o

@ Q° Quantity

e 2

KAS goods are over-priced and under- N
consumed, there is loss of consumer and
producer surplus, as shown by the
deadweight loss (DWL p). This illustrates
the benefit that society should receive from
increased consumption at a lower price but
does not due to market failure. /

The government may provide a subsidy=
so the price to consumers falls (P” to P®)
to where the social equilibrium quantity is
consumed (Q®) and the price producers
receive increases (P” to P) so they
produce the social equilibrium quantity
(Q%). The subsidy results in the social
equilibrium being achieved (E"%), the

leadweight loss being removed and
iencv is increased.

Government intervention —
Government forces
lproducers/consumers to

internalise the externality.

Internalise an externality —
IConsumers/producers receive
the full benefits/pay the full
lcosts of consumption and
production.

IDeadweight loss — Lost
lbenefit to society from producer|
land consumer surplus not
being maximised. -
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Efficiency — Society is getting

‘economic model
Eg. Show the effect of the subsidy/regulation on the market failure by
making changes to the PMB, SMB and MC graph and labelling the new
price paid by consumers, received by producers and the new quantity.
Explain how equitable and/or efficient the chosen policies are in correcting
the market failure

Eg. With reference to your graph, explain in detail how each policy works
fo address the market failure. Explain in detail how equitable each policy
is in correcting the market failure. Explain in detail how efficient each policy
is in correcting the market failure.

Possibly policy 1 - subsidies
Equity: unfair as not all taxpayers benefit/opportunity cost of subsidy
spending/equity increases as low income eamers can now afford it
Efficiency: increases as DWL removed however, a DWL of the subsidy
payment occurs (as shown on PMB, SMB, MC model). Quantity increases.

Possible policy 2 - requlations
Equity: unfair as not all taxpayers benefit/opportunity cost of subsidy
spending.

Efficiency: increases as DWL removed however, a DWL of the subsidy
payment occurs (as shown on PMB, SMB, MC model)

((Possible policy 3._ aovernment provision
Equity: unfair as not all taxpayers benefit/opportunity cost of govt, spending.

Efficiency: increases as DWL removed. however, a DWL occurs if public

Make a justified recommendation as o which policy intervention should be\
used

llustrate the effects chosen policies will have o the marke failure on an \1
|

)

_/

Gooels are notfee (es shown on charging fora public good model) )

the best possible benefit from
the use of scarce resources
(net welfare benefit is
maximised) as the market is
allocatively efficient. le.
producer and consumer
surplus are maximised.

Equity — The costs and benefits
of the use of scarce resources
are being fairly distributed
among the population.

Positive externalities of
consumption

Price s P
P 4 7
g 7
Y e

PMB
Q" Q% Quaniy

Market for a public good

Maximum
capacity
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* Negative consumption externalities
A negative side effect (spillover cost) that occurs when a good

is consumed. Eg. boy racers, smoking, air pollution from fireplaces.|

/MB/PMB = private benefit to consumers,\

MC
the market demand curve.
E™ SMB = total benefit to society. Some
Ere private benefits of consumption (PMB) are
pug | Offset by costs (negative benefits) imposed
- on a third party -the arrow¢ (SMB).
Quantity

ﬁhe free market (private) equilibrium price \
and quantity is where PMB = MC (ie. where
MD = MS). Only private costs and benefits
are considered. The social equilibrium
quantity (Q°) is where SMB = MC.

To ensure consumers buy this reduced
quantity, the price must be increased to the
social equilibrium price (PS), To ensure firms

produce this reduced quantity, the price they
receive must fall to P%.

benefits to a third party as a
result of consumption or
production of a good.

ISpillover costs — A negative
iside effect to a third party as a
result of consumption or
production of a good.

IPrivate marginal benefit — Th
benefit (utility) gained from
consumption of a good. This
ishown by the demand curve.

[Externality — Spillover costs or ‘
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lustrate the effects chosen policies will have on the market failure on an
| economic m
Eg. Show the effect of the sales tax/regulation on the market failure by
| making changes to the PMB, SMB and MC graph and labelling the new
price paid by consumers, received by producers and the new quantity.

Explain how equitable and/or efficient the chosen policies are in correcting
| the market failure Eg. With reference to your graph, explain in detail how

‘each policy works to address the market failure. Explain in detail how
equitable each policy is in correcting the market failure. Explain in detail
how efficient each policy is in correcting the market failure.

probloms/sales tax i
in nature/equity increases if low income earners can now afford it
Efficiency:

: croases as DWL removed however, a DWL of the tax revenue Negative externalities of
occurs (as shown on PMB, SMB, MC model). Quanlty decreases. consumption

Possible policy 2 - requlati nsumption age/minimum price
Equity: unfair as not all consumers cause problems/minimum price impacts

‘more on lower income eamers.

Effclency: increases as DWL removed. However, a DWL of the sales fax

revenue oceurs (as shown on PMB, SMB, MC model).

Possible policy 3. - advertising campaigns e
‘Eauity: unfair as not all consumers cause problems/opportunity cost of govt.
spending.

Efficiency: increases if market demand decreases and spillover costs

\ reduced 5o DWL reduces. Quanity sold falls.

Make a justified recommendation as to which policy intervention should be
used





